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That vibrations are damaging for a wall - 5ok Twp RMOWT

Overview

The X3 explained that the reason one must distance a mill from the property line is
because of the vibrations (X7°1) which damage the wall. N80 reconciles our X773
with a seemingly contradictory X3,

mMooIN anticipates a difficulty:
— NP DIUN RIN W91 N»P0T NNPYVM 193 997 (3,591 11IPYT 23 bY 9N

Even though later the X713 retracted from the reason of 839 (as the cause why
we need to distance a mill three 0°1d5v) and the X723 there explains, rather the reason
for distancing is noise, so why does the X3 here state that the reason is x™°0?!

mooIn responds:
- N0 DIVN NNAYD SWIIY 33 NIN 2XIPIPNT BIVM KD %Y VP DYPN Yan

Nevertheless he mentions here the reason of X7, since initially the X713 there
wanted to explain the reason for distancing is because of X7 —

NN offers an alternate resolution:
NI RNPYL 1N NXYPI X0 XD NINNDT NN 929V NN 3NN »09) KDY D990

And according to these text which do not read 'X>X', it works out well here. For
according to that text X>>1°¢ and X%p are the same reason.

Summary
The % 13 mentions the reason of »3°0 here (even though later the X 13 offers X5 as

the reason) either because it was the initial reason, or because X1 ™0 are the
same reason.

Thinking it over

! The x7n there cited a ®n*12 which required distancing not only from a hand mill (which vibrates and causes the
earth to tremble) but also for a donkey driven mill (which is small and does not casue vibrations [see >"w1 there 7"7
*Rn]). Rather, says the X713, the reason is because both mills make noise (see *"w1 there wn 7"7).
2 The X3 there first cited our mwn and explained that the reason is because of X0, Then the X723 cited the Xn*™2
(see footnote # 1) where (seemingly) the reason of X0 is inappropriate and concluded the reason is X2p. Nevertheless
since the initial reason is X7"0 and it is (seemingly) appropriate for a hand mill, therefore the X913 here which is
dealing only with a hand mill stated X0 as the reason. See ‘Thinking it over’.
3 In our text the X3 asks (regarding the nm); 'R X»7°0 *x» an7' and answers X2p 2Wwn» X98. However in other texts
the word XX is omitted. The answer then is that even by 711 there is X0, but it is caused (not by the shaking of the
mill but rather) by the noise it makes which [also] causes vibrations. (See 7wn n>na for a different interpretation).
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Why can’t we say that when the X3 there stated 'X%p D)wn X9X' it meant that
regarding the 7mn mill it is X7p 21wn,* but not regarding the regular mill?

4 See footnote # 2.
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